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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["1", "lopt'], ['T", "Topt'], ['RH", 'RHopt’], ['ETcl’, 'optETcl'], 'LAI",
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/ (\E Nk M Fhﬂ o :opt
Av ! AA \v/ v \I\f\AM A Mﬁ
M UV T~
a ' i \% \ ~
i I \\
I \\
| —
E J—\/\/\N\ /‘J\/\/“\‘\ — Iopt
| A
N \’\f\wA
| N
U i T~
| | — .
|
in i
\! AN
B T
ﬂgﬂwﬂﬂ% —
7 'y
it
SAmE
i // _\\_\ — LAl
- ™~
/i \,
i N
FA[\\ .i A\jA J[\ ——  optEtRate
]VA\/ N e~ W N




Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,

"FVIPH:r-0o’,

"PHI :g—o’ 1]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-4 0
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G3-4

BflE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:30 197 120.0 2.592 5| THAe06:30 KREEF CRAERS)
07:00 197 120.0 2. 592 5| FEAQO7:00 KENFEFE (CGRAMEEE)
08:00 197 120.0 2.592 M| FHR@08:00 KREFERF (KAL)
08:45 197 120.0 2.592 M| FiHAe08:45 KENFZEF (RAHFEE)
09:20 197 120.0 2.592 M| FRHA@09:20 KEFEF (RAFEEE)
09:50 197 120.0 2.592 M| FRHA@09:50 KEFEF (GRAEESE)
10:20 197 120.0 2.592 FI| FHfe10:20 REERF CRAERS)
10:50 197 120.0 2.592 M| FHAe10:50 KEFEF (GRAFEHE)
11:20 197 120.0 2.592 M| FuHBe11:20 KEEF CGRAEESE)
11:50 197 120.0 2.592 FI|  Fffe11:50 REERF CRAGRS)
12:20 197 120.0 2.592 Rg| FHRe12:20 KENEF CGRAEEES)
12:50 197 120.0 2.592 RS FhHAe12:50 KEFEF CGRAMEESE)
13:20 197 120.0 2.592 FA| FHAe13:20 REAERF CRAERSE)
13:50 197 120.0 2.592 FA| FhHR@13:50 KRHMIEHF CRALESR)
14:20 197 120.0 2.592 BH| FhHA@14:20 KRENF2F (RAEREE)
14:50 197 120.0 2.592 FA| FhHA@14:50 KEFZEF (RAEES)
15:20 197 120.0 2.592 | FiHfe15:20 KREFEF (REAEES)
15:50 197 120.0 2.592 M| FuHAe15:50 KEEF CGRAERSE)
16:20 197 120.0 2.592 M| FHHAe16:20 KEEF CGRAEESE)
16:50 197 120.0 2.592 FI| FHAe16:50 REERF CRAERS)
17:20 197 120.0 2.592 BS| THA@17:20 KRENFEF (RAMRESE)
Bit| 4137.0 (213%) 2520.0 3 UHKEC: 2700.0, PH: 6.5

BEXRERIPH (10.36) 5i8EPH (6.5) IREWR K, BT
FEREIPH (10.36) 5FMPH (6.5 REKK, FHE
[El;&EC 4307.0 K5, EiFHKECAE&REER
H#[ERECE (2800. 0 vs 4307.0) he



FRV (ml plant-1)

ET (ml/hr/plant)

G3-4_0, Day=28 (2025-06-09)
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G3-4

BfiE) | GEBAK (R | EHME (EHRH/HK) | ERERE (/R | XK R

05:55 131 120.0 2.592 = {RRiB@05:55 B (FRFAEEE)
06:25 131 120.0 2.592 = {RRiB006:25 Bz (REAKEE)
06:55 131 120.0 2.592 F|  {Ri1%006:55 Hah (RF{ESE
07:40 131 120.0 2.592 F  BRi%e07:40 Bz (GRAERESE)
08:20 131 120.0 2.592 5| {Rig@08:20 Bz (KRFAMERSE)
08:55 131 120.0 2.592 E  1BRi&e08:55 BE1 (RAERE)
09:25 131 120.0 2.592 F BRi%e09:25 BE1 (RAERE)
09:55 131 120.0 2.592 = {Ri%@09:55 B (RAERSE)
10:30 131 120.0 2.592 E BRi%e10:30 Bz (GRAERERE)
11:00 131 120.0 2.592 =l Rig@11:00 Bah (RAEESE)
11:30 131 120.0 2.592 =l {Rige11:30 B3 (GRAERSE)
12:10 131 120.0 2.592 E BRige12:10 Bz CGRAERESE)
12:50 131 120.0 2.592 E| {Rige12:50 Bzh (RE{EREE)
13:30 131 120.0 2.592 = RRiB013:30 B (RFAKESE)
14:05 131 120.0 2.592 E BRige14:05 Bz (GRAERESE)
14:40 131 120.0 2.592 = RiB014:40 Bz (RAEESE)
15:10 131 120.0 2.592 =l RRiBe15:10 Bz (RFAKESE)
15:40 131 120.0 2.592 =l RRiB015:40 Bz (REAKEE)
16:10 131 120.0 2.592 El BRige16:10 Bz CGRAEREE)
16:40 131 120.0 2.592 F BRige16:40 Bz CGRAERSE)
17:15 131 120.0 2.592 S| Rige17:15 Bz (REAERSE)
23] 2751.0 (210%) 2520. 0 323 KEC: 2700.0, PH: 6.5

FERGERIPH (10.49) 5iGFEPH (6.5) REK K, AT
FERERIPH (10.49) 5FPH (6.5) REKK, T
[El;&EC 4540.0 K5, EiFHKECAE & REER
H#E[ERECE (2855. 0 vs 4540.0) e
LORGEBIPH (10.4) 5i&FEE (6.5) RERKK, BRE.
LORGEBIPH (10.4) S5#REIEN (6.5) RERK, BRE.
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G3-4

BfiE) | GEBAK (D) | ERE (EA/K) | ERERE (B/R) | XS R

05:45 131 120.0 2.592 E 1BRi&e05:45 Bzl (REERSE)
06:20 131 120.0 2.592 5| {Ri%e06:20 Bz (FAAERSE)
06:55 131 120.0 2.592 5| 1Ri&e06:55 Bz (REAERS)
07:45 131 120.0 2.592 E BRi&e07:45 Bzl (GRAERSE)
08:35 131 120.0 2.592 = {Ri%@08:35 B (RAERSE)
09:15 131 120.0 2.592 =l RRiB009:15 B (RFAKEE)
09:55 131 120.0 2.592 = {RRiB009:55 Bz (REAKEE)
10:35 131 120.0 2.592 5| {Ri%@10:35 B3 (RAERSE)
11:10 131 120.0 2.592 =l Rige11:10 B3 (GRAERSE)
11:55 131 120.0 2.592 Sl {Rige11:55 Bz (REAERSE)
12:45 131 120.0 2.592 E| {Rige12:45 Bzh (GRE{ERSE)
13:30 131 120.0 2.592 F BRi%e13:30 Bz (CGRAERSE)
14:10 131 120.0 2.592 Sl Rige14:10 B3 (RAERSE)
14:50 131 120.0 2.592 E BRige14:50 Bz (GRAERSE)
15:25 131 120.0 2.592 E|  {Rige15:25 Bah (RE{EREE)
16:00 131 120.0 2.592 =l {Ri%016:00 B3 (RAERSE)
16:35 131 120.0 2.592 E BRige16:35 Bzl (GRAERESE)
17:20 131 120.0 2.592 | {Ri%e17:20 Bz (REBERSR)
24t 2358.0 (18)%) 2160. 0 3ZHKEC: 2700.0, PH: 6.5

EREBRIHCRIRAREZI (131 vs 197.0))

EXIASEPRIERE80. 0 ml.
REXEBIPH (10.45) 5i&EPH (6.48) REK K, HRE
REXEBIPH (10.45) 5FMPH (6.5) REKR KA, HFHRE
[E/REC 4203.0 K&, ZiLAIRECAE & IMIEER
#[EKECE (2832.0 vs 4203.0) 1R
EXRGEBPH (10.5) 5i&EE (6.5) REKK, BRE.
ERGEBIPH (10.5) SHEEIE (6.5 REKK, BHRE.
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G3-4

BfiE) | GEBAK (D) | ERE (EA/K) | ERERE (B/R) | XS R

06:30 131 120.0 2.592 E 1BRi&e06:30 Bzl (RAEREE)
07:05 131 120.0 2.592 = {RRi%007:05 Bah (RAEESE)
08:00 131 120.0 2.592 = {RRiB008:00 Bz (FRFAfREE)
08:40 131 120.0 2.592 E  1BRi%e08:40 Bzl (RAERE)
09:15 131 120.0 2.592 5| 1RiRe09:15 Bz (KREAEES)
09:50 131 120.0 2.592 = {RRiB009:50 B (RFAEEE)
10:25 131 120.0 2.592 =l RRiB010:25 Bz (REAEEE)
10:55 131 120.0 2.592 5| {Ri%@10:55 B3 (RAERSE)
11:30 131 120.0 2.592 =l {Rige11:30 B3 (RAERSE)
12:15 131 120.0 2.592 Sl {Rige12:15 B3 (REAERSE)
13:00 131 120.0 2.592 E| {Rig@13:00 B3h (RE{ERSE)
13:40 131 120.0 2.592 E BRige13:40 Bz CGRAERESE)
14:15 131 120.0 2.592 S| {Rige14:15 B3 (REAERSE)
14:50 131 120.0 2.592 E BRige14:50 Bz (GRAERSE)
15:25 131 120.0 2.592 F BRige15:25 Bz CGRAERSE)
16:00 131 120.0 2.592 =l {Ri%016:00 B3 (RAERSE)
16:35 131 120.0 2.592 E BRige16:35 Bzl (GRAERESE)
17:15 131 120.0 2.592 | {Ri%e17:15 Bz (REBERSR)
24t 2358.0 (18)%) 2160. 0 3ZHKEC: 2700.0, PH: 6.5

LRGEB R R IR ER 2N (300 vs 197.0))

ZRINSLPR;ERE183. 0 ml.

REREMIPH (10.48) 5i&EPH (6.5) REK K, FHE
REXRERIPH (10.48) 5FMPH (6.5) REK K, HFRE
LRGEBREC (2844.0) S51EENEY (2340.0) RERK, HHRE.
LORGEBIPH (10.4) 5i&EE (6.3) RERKK, BRE.
LORGEBIPH (10.4) S5#REIZEN (6.5) RERK, BHRE.



G3-4_0, Day=25 (2025-06-06)
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G3-4

BflE) | GEBRAK @) | ERE(EH/N | EREE (G/R) [ XS R

06:30 131 120.0 2.592 & 1Ri%e06:30 BE1 (RFAEREE)
07:10 131 120.0 2.592 =] {Ri%e07:10 B (GREAERSE)
08:20 131 120.0 2.592 [ =| 1Rige08:20 Bz (KAFERE)
09:00 131 120.0 2.592 FA| 1BRi%@09:00 B3h (FKAIEREE)
09:40 131 120.0 2.592 FE| 1RRi%@09:40 Bzl (REAHERESE)
10:20 131 120.0 2.592 FE| 1RRi&@10:20 B3 (RFEAERESE)
11:00 131 120.0 2.592 FA| 1BRi%@11:00 B3h (RAERSE)
11:45 131 120.0 2.592 FR| {Ri&@11:45 Bz CGRAERESE)
12:25 131 120.0 2.592 PR 1Ri&@12:25 B (RAERSE)
13:10 131 120.0 2.592 | =| Rige13:10 Bz (GRAFEHE)
13:50 131 120.0 2.592 [ =| Rige13:50 Bz (kAEREE)
14:30 131 120.0 2.592 |2 =| Rige14:30 Bz (RAFEHE)
15:20 131 120.0 2.592 [£=| 1Ri%e15:20 Bz (RAEZSE)
16:15 131 120.0 2.592 [ =] Rige16:15 Bz (RAEREE)
17:15 131 120.0 2.592 | =| Rige17:15 Bz (RAFEHE)
B2it] 1965.0 (15)%) 1800. 0 323HKEC: 2700.0, PH: 6.5

ERGEBATHEC AR IRIERE I (131 vs 197.0))

ELIASSFRIERE80. 0 ml.

REXFEBPH (10.56) S5i&EPH (6.5) RERK, HFHRE
REXEBPH (10.56) S5FMIPH (6.5) REKA, BFHRE
EREBIEC (2780.0) SiREVEIY (2340.0) RERK, HFEE.
EREBPH (10.4) 5i8EME (6.5 RERK, BHRE.
ERGEBIPH (10.4) S5EREW (6.5 RERK, HRE.
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